Q.P. Code : 17196

(3Hours) [ Total Marks : 100
_N‘B. : (1) Attempt any four questions.
(2) Figures to the right indicate full marks.
Explain the following in brief: :
(a) Chamberlin's Small Group model - 15

" (b) Dominant price leadership | - ' 10

~ Discuss the following.

(a) ' Types of financial statements _ ‘ - o 15
(b) Steps in Sensitivity Analysis 10
Explain the following.

(a) Determinants of vertical integration of industry. . : 10
(b) Needs & requirements of Mergers and Acquisitions. | 15
(a) Explain Hotelling model. : - : ' 10

- (b) 'Advertising expenditure may serve to signal quality of the product'. Discuss. 15

(a) Discuss structure-conduct-performance. ‘ 15
(b) Write a note on Economics of patents. : _ 10

"Small scale industries contibute significantly to the development of large scale
industries". Explain. - ' _ 25

Write notes on any two. : R ' 25
(1) Sales Maximization ' | o

(2) Ratio Analysis

(3) Diversification

(4) Performance of Public Sector
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